JL_

Finding Factors

Deter mine which letter best answer s each question.

1) Which choiceisnot afactor 2) Which choiceisnot afactor
of 63?

A.

B.
C.
D

4) Which choiceisnot afactor 5)

7
3

16
21

of 87?

A.

OO

7) Which choiceisafactor of

69?

Cow>»

10) Which choiceisafactor of 11)

51?
A.

O 0Ow

29
87
5
3

69
4
6
11

8
17
14
2

of 527
A. 6
13
2
4

OCOw

Which choiceis not afactor
of 66?

A 11
B. 8

C. 66
D. 22

Which choiceis afactor of
100?

A. 14
B. 100
C. 18
D. 19

Which choice is afactor of
657

2

65

15

.

o0 ®p

Name:
Answers
3) Which choiceis not afactor
of 217 1
A. 3
B. 11 2.
C. 21
D. 7 3.
4.
5.
6) Which choiceis not afactor
of 48? 6.
A. 11
B. 2 7.
C. 16
D. 8 8.
9.
10.
9) Which choiceisafactor of
847 11.
A. 8
B. 16 12.
C. 21
D. 19
12) Which choiceisafactor of
967
A. 2
B. 10
C. 14
D. 15
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Finding Factors

Name: Answer Key

Deter mine which letter best answer s each question.

1) Which choiceisnot afactor 2) Which choiceisnot afactor
of 63?

A.

B.
C.
D

4) Which choiceisnot afactor 5)

7
3

16
21

of 87?

A.

OO

7) Which choiceisafactor of

69?

Cow>»

10) Which choiceisafactor of 11)

51?
A.

O 0Ow

29
87
5
3

69
4
6
11

8
17
14
2

of 527
A. 6
13
2
4

OCOw

Which choiceis not afactor
of 66?

A 11
B. 8

C. 66
D. 22

Which choiceis afactor of
100?

A. 14
B. 100
C. 18
D. 19

Which choice is afactor of
657

2

65

15

.

o0 ®p

Answers
3) Which choiceis not afactor
of 212 1. C
A. 3
B. 11 2. A
C. 21
D. 7 3, B
4 C
5, B
6) Which choiceis not afactor
of 487 6. A
A. 11
B. 2 7 A
C. 16
D. 8 8. B
9. C
10. B
9) Which choiceisafactor of
84? 11. B
A. 8
B. 16 12. A
C. 21
D. 19
12) Which choiceisafactor of
967?
A. 2
B. 10
C. 14
D. 15
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